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|AE|
|BE| ·

|AF|
|BF| =

b2

a2
. (1)

������ ���� �� AG ‖ CB� �� �� �� �� G ∈ CE
	BH ‖ AC� �� �� �� �� H ∈ CF �� |AC| = b 	

|BC| = a�� � �� �
� ��
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|AE|
|BE| =

|AG|
a

(2)

	 |AF|
|BF| =

b
|BH| . (3)
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� ��� �	<)ACD = <)DCB	<)ECD = <)DCF
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<)ACG = <)HCB. (4)

)#�� BH ‖ AC 	AG ‖ BC ��	���	�� ��!

<)GAC = <)CBH. (5)
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� ��� ���! |AG|
|BH| =

|AC|
|BC| =

b
a
. (6)
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|AE|
|BE| ·

|AF|
|BF| =
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· b
|BH| =

b
a
· |AG|
|BH| =

b
a
·b
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AB ������� ABC� �� �� �� |AE| = |EB|� � � 	
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|AF|
|BF| =

b2

a2
. (7)
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 = ACB ������� ABC��� �� �� |CE| = |CD| =
|CF| =⇒ |AE| = |AD| 	|BF| = |BD|�"� �� 	
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|AD|
|BD| ·

|AD|
|BD| =

b2

a2
⇐⇒ |AD|2

|BD|2 =
b2

a2

⇐⇒ |AD|
|BD| =

b
a
. (8)
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